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SARDAR PATEL UNIVERSITY
FIRST SEMESTER B.A.
FUNCTIONAL ENGLISH-1
Title: An Introduction to linguistics and applied phonetics
CODE: UA0ICFENO1
DATE: 27" November, 2013 TIME: 10:30a.m. To 1:30 p.m.
DAY: Wednesday MARKS: 70

Note: 1) Attempt all questions
2) Figures to the right indicate full marks

Q-1 Write notes on the following: ‘ (20)
1. Organs of speech
2. Phonetics
OR
Q-1 Write short notes on the following:
1. The place of articulation
2. the manner of articulation

Q-2 “Linguistics is the scientific study of a language or languages”- Explain the
statement focusing on the structure of Linguistics. (20)
OR
Q-2 Write short notes on the following:
1. Vowels and consonants
2. Consonant clusters
Q-3(A) Transcribe any five of the following words: (05)
1. sold
thrice
Visit
last
hostess
Dear
. Mecasure
(B) Write in orthographical form any five of the following: 05)
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(C) Transcribe any five of the following: (10)
What are you doing?
Where are you going?
She has faced the problem in her life.
They will have finished the work.
My mother has worked out for her aim.
6. We will help the poor.
7. My sister doesn’t like to study.
Q-4 (A) state whether the following statements arc true or false: Any five (05)
1. Vowels are produced with obstruction in the air passage.
Consonants arc directly produced from the vocal cords.
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Tongue has three parts.
/f/ and /v/ are affricate sounds.
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18/ and 18/ arc alveolar sounds.

6. Ikl and /gl are velar sounds.
7. The palate has three parts.
(B) Answer any two of the following: (05)
1. Define glottis and give example of glottal sound.
2. Prepare the list of monophthongs.
3. Define bilabial sound and give examples of bilabial sounds.
4. Preparc the list of diphthongs.
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